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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

the end points of a line segment is on its -

(D) (C) (B) (A) QUESTIONS Q-1
~1.0 -1 2 I -2 el | Adiointof |1 2 is.....
2 1 0 -1 0 -1 0 1|l meeeee - £lzAdj 0 -1 1
-i i -1 1 The value of i’ s ...... F_.=If i 2
log p p p
logg —logp |logp+logg | 0 |108P ~1084 e vae of 108 | [ Jis... =2 08 ]| 3
(@-b) (@ +ab-b?) | (a-b)(a~ab+h?) | (ash(a®-abeb®) | (a-)(a*+abe’) | @® + B is equalto ...... ~ 44 a + b 4
P . 2
Y U A b { —-X—
(x=1),(3x+2) (x=1),3x=2) | (x+1),(3x+2) | (x+1),(3x-2) 5 s L}/Q; L£3x°-x-2 5
Factors of 3x"—x—2 are .......
e Bl a®—2a+1| 6
(a+1) (a-1) +(a-1) +(a+) “ G
The square root of @” —2a+l is ........
_____ Insre 10§ XN 7
x>10 x<10 x<10 x=8 nixe d
if X is no larger than 10 , then -———--
v il it I Point (2, -3) lies in quadrant « & L5 (2,-3) 5| 8
1,-1) ©,1) (1.0) (1,1 i ki Q€ (2,2) 510, 0)55 | 9
Mid-point of points (2, 2)and (0, Q) is ......
oY B oIy o < L WAG15 fas u Cly g e S LBEST | 10
Square Line Circle Triangle Three points are said to be collinear, if they lie on same .......
o7 o i o L S Sni sl Ll el | 11
One fourth One third Half Double N7 -~
The line segment joining the mid-points of
two sides of a triangle is .... to the third side.
it Iys? BA St The < fistem-dtdfltinlats” | 12
Bisector Perpendicular | Concurrent Parallel isectors of the sides of a triangle are ___
. s R e 2 2 S | 13
A = = - i RRRE B "
Symbol usk#:for congria i X %
s L6 Sk | ety e bt e Lt | 14
Median Altitude Bisector of Bisector of |Perpendicular from vertex to the opposite
side angle side of a triangle is called -—-----
ooy o bt St | BNV ee L B REL| 15
Median Perpendicular | Right bisector |  Bisector | A point equidistant from - tx o —
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Answer briefly any SIX parts from the followings:- 6x2512 - /efeiz L g $le st dibs -2
Define Square matrix with example 2 Ehe JefShd, 6
i A=[ 21 ﬂthen find A+E ijl i S A*‘B i] n A [ }f *
Express in ordinary notation 7.61x10™ &8 2 250k (iv) | Simplify 3/16x"y* -~ i
Simplify in the form of a+bi %%l 2+31 AL Sy a+bi v)

(x+2)(x* - | “
Reduce to the lowest fonnm & 2 P74 (i) Find the value of X when logy 9=x £&edf x (vi)
Factorize x*~11x-42 2L 7 (ix) Simplify 3/243x° y'° 2" =L A7 (viii)

Answer briefly any SIX parts from the followmgs - 6x2=12 ..Q_'f()’uur" ;’5 4l {e.&fc..u-’. g,t} Lo -3
Find L.C.M of the following Expressions -u’fr}”d’l_’ulu FurE LS ()
102xy’z , 85x°yz , 187xyz’ ' 102xy%z , 85x’yz , 187xyz2*

Solve for x |3x"5| =4 u_‘)’d’ (iii) Solve the Equation 3\[-3-;::‘{ -2=0 g{fJ’f.:.uP (ii)
Find the value of m and ¢ of the following line by il eam Lt y=ma+e fonJ6 ()
Expressing it in the form Y= mx+c¢ 2x-y=T7 2x—-y=T u_‘fr:"'

Verify whether the point (2, 5) lies on the line 2x—y+1=0 or not uﬁ"lf. (‘,’h/ 2x-y+i=0 Ju2,5 BLitsSy/d# W)
Find the mid point of line segment Joining of the following Nle? SunbB e i bfUn L be i (Vi)
pair of points. A(2,-6) B(3,-6) A(2,-6) B(3,-6)
Find the distance between the following pair of points. I heben L sz L85 (vil)
A(=4,42) , B(-4,~3) A(-4,42) , B(-4,-3)
What meant of point of trisection? ‘eolpVe sbB (viii)

Find the value of x of APOR qfr}”.-;f Sx A APOR (ix)

R om
Answer briefly any SIX parts from the followings:- 6x2=12 -._g)}f.—..;m/f’ﬁlzl £ ;Jfa:-uﬁd_')b» -4

Define bisector of an angle. Zpfaetha ()
If 3 cm and 4 cm are the lengths of Two sides of a right angled Jura cm st 3 cm U S Qs L el i)l _-Jb’o’(/f (i)
tnangle then what should be the third length of the triangle. Jﬂ ,,Lfle g d" /A Lol
Define Converse of Pythagoras' Thenrem}/ulz...;! te!/f (iv) Define proportion. -é ...g/TJ b (iii)
Define Altitude of a triangle. -25 &7 L ¥ &t (vi) Define Centroid. LwJSvr W)

Constructa AA4BC |in which mAB=4.8cm,mAC =3.7, m£B = 60" LSS BABC i)
Lo 36 PI S i,

Find the value of X Bem-ZE et S x (ix) Find the Area of given fig,
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Note: Attempt any three questions. But Q.No 9 is compulsory.

(a) | Solve by using Cramer's rule 2x-2y=4 , 3Ix+2y=6

7 1
(216)7 x(25)?

(b) Simplify o1
(0.04) 2

1
216)°x(25)2
(_“'“‘_r"_g{ﬂ'f ()

(a) Evaluate with the help of logarithm ¥2.709 x ¥1.239

(b) If a+b+c =6 and @’ +b*+c* = 24, then find the

value of ab+bc+ca
(a) Factorize: (x> +5x+4)(x*+5x+ 6)-3
(b) Find the H.C.F by Division method

(a) Solve the following equation

SG=3) X
; -

(b) Constructthe AABC and draw the bisectors of the
angles m AB= 4.2cm, m BC =6¢cm,mCA=5.2cm

Prove that any point on the bisector of an angle is

equidistance from its arms.

Prove that Triangles on equal bases and of equal

altitudes are equal in area.

2x* -4x' —6x , x*+x* -3x’ -3x?

V2709 x V1239 £, SE% 0.6

Ind*+b’+c? =24 4 a+b+c=6 /i ()
& pboi§ abtbctca

(7 +5x+4) (x> +5x+6)-3 =Ly .7

e a e ()

e fhabiedn O)8

3(x=3) _ X

=1-=

6 9 |
-u_f!o‘dﬂbﬁug:ljédibthBC& (&)
mAB=4.2cm, mBC =6cm,mCA=5.2cm ]
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both :
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. F
Use_of ink remover or white correcting fluid is not allowed.
(D) (C) (B) (A) QUESTIONS Q-1
e ¥4 2 éf& -Ufffv’b:fc}gcﬁdxud?ﬂé ud |
Four Three Two Fiva Equality of ratios is defined as proportion
m? m ms”’ m? The unitofareais ____ gl 2
Lo $ii5 D33 -4 % < 0w %90° i ¥ A L] 3
Parallelogram | Trapezium Rhombus Rectangle |A quadrilateral having each angle equal to
90° is called
14 /'-’.1: {:;F ] iy, ‘\/5 0 4
= “ o bl s S [ o 3| s called..matrix
Singular Scalar Unit Zero
-1 1 i y The value of i° is < __=dd P s
y' = x Z=x X=y x'=2z ?ny=logzxfl 6
The relation y = log,x implies
(\/c_z+ \/l_)) (JE— \/b_) is equal to.......
16 -8 8 4 Wb lrJtl+ax+md L=d S Em 8
Find m so that x* + 4x + m is a complete square...
Xx-2 x*-4 X+2 X-3 -G rﬁ"bbb’xz-f')x*-Gufxz-x-S 9
HC.Fof x*-5x+6and x*-x-6 is
3x+5<0 x>0 X-2<0 X+2<0 e Wer L chlgx=0| 19
X = 0 is a solution of the inequality . '
(1.1) (0.0) (1,0) (0,1) e £ () B (%,0) = () 1| 14
If (x,0) = (0,y) then (x,y) is .......
2 2 1 0 ol Sebulend (1,1)(0,0)58 | 12
Distance between point (0,0) and (1,1) is —
ofi Sl b ks SEIL i 53030 tifib el it 5 S| 13
. - . 0
Two times Three times Four times Equal If one angle of a right triangle is 30°, the M= J;J
hypotenuse is....as long as the side oppos jte tg'the angle
7 2 o I uy»*’d‘w*;;ﬁi S5 14
. Eagh diggdnal of a paralldipg isect into
Six Four Three Two ngguent triangles.
2UELEL e ipe S mis | 15
& 3 2 ! .,4.../(:;{): Uroils :C::UZ: &
Bisection of an angle mean to draw a ray to
divide the given angle into equal parts
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Part I dﬁ -

Answer briefly any SIX parts from the followings:- 6x2=12 - J/zfeA2 L1721 g $e Lditn -2

Define square matrix with an example. _éc. JL‘#..Q/."J_,JE'@/ (i)

| 2 1], [+ -2 2 1], [+ -2 o
Findthe value of X, if | 3 _ 5 “l_{ 22 3 _3 “l_1 -2 ﬁ-é(;"’;{JX (i)

Use Law of exponents to simplify (2x5y'4)(—8x'3y2) (2x5y"}(-8x'3y2) -{{_{i /‘?4:. 2k d’ UL Vs (iii)
- + 5i , . , 4+5i
Express a5 in the standard form a + bi _éﬁuJ a+bi Jﬂd;_l,v:( 2 5!_ (iv)
- -
Find the value of unknown log,81 =L & (el J(:‘VL' (vi) Calculate: log,3xlog,25 & (i V)
) Txy 14y Txy 14y »
ify: + + L (vii)
Simplify: 2 —4x+4 2 -4 ¥ -4x+4 x*-4 .
3
-2z ) R
Evaluate for x=3, y=-1, z=-2 x=3,y=1,z=2 .6 222 i (vii)
- Xz
Factorize 125x° - 216y® 125x - 216y° -ZZ 4 (ix)
Answer briefly any SIX parts from the followings:- 6x2=12 -/ zfelz AL 12! g;.ch_.ngém <3
Find squre root by Factorization 4x°- 12xy + 9y - 12xy + Oy’ S 8 uh e 3PESE @)
Solve the Equation ¥/2—¢ =3/2¢-28 V2t =32r-28 _ /S =zt (i)
1 1 ;
Solve the Inequility —7 ¥ +3s51 -3+ S<U g Sflan g i
Find the value of m and ¢ by expressing the line 2x=y+3 in the Senmnl é_f,:u;uf y=mx+cf 2x=y+3 bl (iv)
form of y=mx+c - / r)"’u:‘i’
Verify whether the point (2,3) lies on the line 2x -y + 1 = 0 or not uﬁ"g < éf:{ 2x-y+1= chli (2,3) & l_fq_’fJ’“ﬁ (v)
Find the distance between the pair of paints A(0,0) and B(0,-5) - 77 r:"‘.l‘li U L B(0,-5) 15 A(0,0) b ss (i)
Find the mid-point of the line segment Sen€Ba80 1bE o B(3,-4) 4 A3,-11) 583 (vil)
Joining the pair of points A(3,-11) and B(3,-4) U/ (P
Define A.S.A postulate. S I srr ¥ S Pl (i)
Sum of the two opposite angles of a parallelogram is 110°. 3 ~e 110° 4% KUl s PG L LUen S L (ix)
Find the remaining angles. g S o
Answer briefly any SIX parts from the followings:- 6x2=12 -J/zfa\z L 121 {a.ljfa..ufdibw -4
CD is right bisector of the line segment AB ‘L’ S crt ¥ BB CD UL FU 2l ()
If mAB=6cm, then find the mAL and mLB A 8 _’,.-i-(r'}” mLB s/ mAL #» mAB=6cm
B Define Ratio. -&& ¥ /J=r’ (i)
2cm , 3cm, 5cm can be the lengths of a sides of a triangie? e Jﬁlg Ju &lso Euei5cme3cme2eml’ (iii)
State converse of Pythagoras theorem. - Ve b I 4 l}v.ﬁ‘;fg (iv)
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b=12cm , c=15cm is right angled.

Define Altitude of the parallelogram.

Write formula to find the area of parallelogram.
Define point of concurrency.

Construct a AABC | in which

mAB = 4. 6cm , mE‘C" =4cm, msZA=60"
Part Il

B8x3=24

-{(2)-

Verify that the triangle having measure of sides a=9cm |,

a=9cm , b=12cm, ¢=15cm QEHJCMZ 2L (v)
IR e N
“E IS S (i)
&K LS5 ey St (Vi)
& ASBE (i)
LUk AABC (ix)
mﬁ= 46cm, m;E= 4cm, mZA=60"
I -
-+ d)ﬂsdlru‘g_‘[&;&&lzﬁ elvfe & s

Note: Attempt any three questions, But Q.No 9 is compulsery.

Solve by matrix Inversion Method.

Use log table to find the value /2.709 x1/1.239
> |
if p=2+3 Find P° -

Factorize the following cubic polynomial by factor

theorem x°-2x%-x+2

Use division method to find the square root of the
expression 4x> + 12xy + 9y? + 16x + 24y + 16

4-
3x<l

Solve the inequality —5<

Construct the APOR and draw its altitudes
m?’@=6cm 5 m@ =4.5¢cm, mPR = 5.5cm
Any point inside an angle equidistant from its arms is

on the bisector of it. Prove it.

........ SRS = | . QO T—

Triangles on equal bases and of equal altitudes are

equal in area. Prove it.

2x + gk \F
i a1 SIS 3Pl FLU ()8
% W [ o
Simplify FF}K-“:%J g/~ ()

V27091239 g Spreia KA O
1
Sulped § Pz-? p=2+3 /i (&)
_édf-d/& &{@»JJE@»;ML}’J;{P 0.7
-2 -x+2
Bk ()
4x2 + 12xy + 9y* + 16x + 24y + 16

_534—317

<l -éw/f_‘—[.!lﬁ',fj 0.8
EEQEN AL U1 L PAR &L (L)
mP-_Q*zécm , m@ﬁ =45cm, mPR = 5.5¢m
e U LS LR s Lo sis o 9
S et b Bl g ot £ Lsli 1 08 For ol 5l
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